SWAGED HOSE FITTING

ANERDAHYDRAULIC

ANERDAHYDRAULIC

SWAGED HOSE FITTING

20791

90° 74°

90° GB METRIC MALE 74° CONE SEAT
REF.GB/T9065.1

24° O

. JIFII.

. 1ISO12151-2-CON 3865
\_,__r.‘

METRIC FEMALE 24° CONE RING L.T.

= HOSE BORE DIMENSIONS
PART Number

THREAD E DN DASH A C H S2
20791-12-04 M12x 1.5 6 04 30 10 33.5 17
20791-14-04 M14x 1.5 6 04 30 8.5 34 19
20791-16-05 M16x 1.5 8 05 34 8 38 22
20791-18-06 M18x 1.5 10 06 35.3 10 41.3 24
20791-22-08 M22x 1.5 12 08 41 10 48 27
20791-27-10 M27x 1.5 16 10 56.5 11 54 32
20791-30-12 M30x 1.5 20 12 66.2 11 63.5 36
20791-33-12 M33x 2 20 12 65.5 13 63.5 41
20791-36-14 M36x 2 22 14 71.2 14 64.5 41
20791-39-16 M39x 2 25 16 76.7 14 70.5 46
20791-45-20W M45x 2 32 20 91.5 15 83 55
20791-52-24W M52x 2 40 24 110.7 17 96.5 60

1 2. 20792-xx-Xx

Note

1.For ues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20792-xx-xx.

" 15k
"4 20411 = 20411-T
= HOSE BORE (e) DIMENSIONS
PART Number

THREAD E DI\ DASH TUBE.O.D O RING A C S2
20411-12-04 M12x 1.5 6 04 6 004.5% 1.5 26 1 17
20411-14-04 M14x 1.5 6 04 8 006.5% 1.5 27.5 2 19
20411-16-05 M16x 1.5 8 05 10 008.0x 1.5 28 2 22
20411-18-06 M18x 1.5 10 06 12 010.0x 1.5 29 2.5 24
20411-22-08 M22x 1.5 12 08 15 012.0x 2.0 32 2.5 27
20411-26-10 M26x 1.5 16 10 18 015.0x 2.0 | 35 2.5 32
20411-27-10T M27x 1.5 16 10 18 015.0x 2.0 28 2.5 32
20411-30-10T M30x 2 16 10 22 020.0x 2.0 35 4 36
20411-30-12 M30x 2 20 12 22 020.0x 2.0 38 4 36
20411-36-14T M36x 2 22 14 28 026.0x 2.0 36 4 41
20411-45-16T M45x 2 25 16 35 032.0x 2.5 41 5 55
20411-45-20T M45x 2 32 20 35 032.0x 25 | 42 5 55
20411-52-24T M52x 2 40 24 42 038.0x 2.5 44 55 60

1. 2. 20412-xx-Xx

Note 1.Forues with braided hoses

L]

45° 24° O

1ISO12151-2-DIN 3865

2.1f use with spiral hoses,hose fitting series number is 20412-xx-XX.

45° METRIC FEMALE 24° CONE RING L.T.

HOSE BORE DIMENSIONS

PART Number THREAD E DN DASH TUBE.O.D ORING C H

20441-14-04 M14x 1.5 6 04 8 00.65x 1.5 | 49 2 27 19
20441-16-05 M16x 1.5 8 05 10 00.80x 15| 515 |2 28.2 22
20441-18-06 M18x 1.5 10 06 12 010.0x 15| 54.2 | 25| 29.9 24
20441-22-08 M22x 1.5 12 08 15 012.0x 2.0 | 68.1 | 25| 33.2 27
20441-26-10 M26x 1.5 16 10 18 015.0x 2.0 | 80.7 | 2.5 | 35.9 32
20441-27-10T | M27x 1.5 16 10 18 015.0x 2.0 | 72 2.5 | 27.7 32
20441-30-10T | M30x 2 16 10 22 020.0x 2.0 | 75.1 30.3 36
20441-30-12 M30x 2 20 12 22 020.0x 20| 89.1 | 4 41.7 36
20441-36-12T | M36x 2 20 12 28 026.0x 2.0 | 82 4 33.9 41
20441-36-14T | M36x 2 22 14 28 026.0x 2.0 | 83.7 | 4 33.3 41
20441-45-20T | M45x 2 32 20 35 032.0x 25| 99.6 |5 40.8 55
20441-52-24T | M52x 2 40 24 42 038.0x 2.5 | 117 55| 45.8 60

] : 10411
247 240
ol M_H_UJUU_IU_I__, METRIC FEMALE 24° CONE SEATL.T.
., 1SO8434-1-DIN 3861
AR Nurber E HOSE BORE DIMENSIONS
THREAD E DN DASH TUBE.O.D A C S2
10411-12-04 M12x 1.5 6 04 6 20.5 10 12
10411-14-04 M14x 1.5 6 04 8 20.5 10 14
10411-16-05 M16x 1.5 8 05 10 22.5 11 17
10411-18-06 M18x 1.5 10 06 12 21.5 11 19
10411-22-08 M22x 1.5 12 08 15 26 12 24
10411-26-10 M26x 1.5 16 10 18 27 12 27
10411-27-10 M27x 1.5 16 10 18 32 14 30
10411-30-12 M30x 2 20 12 22 20 14 32
10411-36-16 M36x 2 25 16 28 315 14 38
10411-45-20 M45x 2 32 20 35 36 16 46
10411-52-24 M52x 2 40 24 42 38 16 55
1 2. 10412-xXx-XX

Note

1.For ues with braided hoses 2.1f use with spiral hoses,hose fitting series numbe is 10412-xx-Xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com

1. 2.
Note 1.Forues with braided hoses

20442-xXX-XX

(Tel) 86-574-8847111  (Fax) 86-574-8847116

2.If use with spiral hoses,hose fitting series number is 20442-xx-XXx.

(URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

90° 24° 0 sl L : " i ©
. 90° METRIC FEMALE 24° CONE O-RING L.T. Tl wmﬂl—ﬂl H]J_II_UIMJ_L METRIC FEMALE 24° CONE O-RING H.T.
1SO12151-2-DIN 3865 o ' 1SO12151-1-DIN 3865
20491-T 20511 \57 20511-T
* E HOSE BORE o DIMENSIONS
PARTNuUmber - oD E DN DASH TUBE.O.D ORING A R
HOSE BORE o DIMENSIONS

VNSRS W SN el TuEEe| © A A —T 20511-14-04 M14x 1.5 6 04 6 0045x 1.5 | 28.5 | 1.1 | 19
20491-12-04 | M12x 1.5 6 04 6 004.5x 1.5 | 30 1 |44.5] 17 20511-16-05 M16x 1.5 8 05 8 ©06.5x 1.5 | 29 1.5 |22
~osoiia0a | Misric 5 o . o065 15 | 30 > Tac 1o 20511-18-06 M18x 1.5 10 06 10 008.0x 1.5 | 29 2 24
204911605 | Miox 15 . o 0 505.0% 15 | 33 > T205 22 20511-20-08 M20x 1.5 12 08 12 010.0x 1.5 | 315 | 2.5 | 27
20491-18-06 | M18x 1.5 10 06 12 010.0x 1.5 | 35.3 | 2.5 |53.3| 24 20511-22-08 M22x 1.5 12 08 14 O11.0x20 | 31.5 | 2.5 | 27
20491-22-08 M22x 1.5 12 08 15 012.0x 2.0 | 41 25 |61 |27 20511-24-08T M24x 1.5 12 08 16 013.0x 2.0 | 30 3 30
20491-26-10 | M26x 1.5 16 10 18 015.0x 2.0 | 56.5 | 2.5 |67.5| 32 20511-30-10T M30x 2 16 10 20 O16.3x 2.4 | 36 3 36
20491-27-10T | M27x 1.5 16 10 18 015.0x 2.0 | 56.5 | 2.5 |67.5| 32 20511-30-12 M30x 2 20 12 20 O16.3x 2.4 | 39 3 36
20491-30-10T | M30x 2 16 10 22 0200x 2.0 | 56.5 | 4 |57.2| 36 20511-36-127 M36x 2 20 12 25 ©20.3x 24 | 36 3 41
20491-30-12 | M30x 2 20 12 22 0200x 2.0 | 655 | 4 |80 |36 20511-36-14T M36x 2 22 14 25 ©20.3x 24 | 36 3 41
20491-36-12T | M36x 2 20 12 28 026.0x 2.0 | 655 | 4 |69 | 41 20511-42-121 M42x 2 20 12 30 0253x 24 | 40 5 50
20491-36-14T | M36x 2 22 14 28 026.0x 2.0 | 71.2 4 |70 |41 20511-42-16T M42x 2 25 16 30 025.3x 24| 41 > 50
20491-45-16T | M45x 2 25 16 35 0320x25 | 76,7 | 5 |75 |55 20511-52-20T M52x 2 32 20 38 033.3x 24 | 44 65 | 60
20491-45-20T | M45x 2 32 20 35 032.0x 25 | 91.5 | 5 |88.5| 55 20511-52-24T M52x 2 40 24 38 033.3x 24 | 44 65 | 60

20491-52-24T M52x 2 40 24 42 038.0x 2.5 | 109.4 55 [104 | 60 Notell 1.For ues with braided hoses g If use with spiral hoses, hosi(;ﬁﬁﬁgxge):lxes number is 20512-xx-XX.

1. 2. 20492-xx-xX

Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20492-xx-xx.
45° 24° o
45° METRIC FEMALE 24° CONE O-RING H.T.

1SO12151-2-DIN 3865
24° HOSE BORE o DIMENSIONS

METRIC MALE 24° CONE SEAT H.T. PART Number THREAD E DN DASH TUBE.O.D ORING C H
1S08434-1-DIN 3861 20541-14-04 M14x 1.5 6 04 6 004.5x 1.5 | 50.1 1.1 | 28 19
20541-16-05 | M16x 1.5 8 05 8 006.5x 1.5 | 52.2 | 1.5| 28.9 | 22
20541-18-06 | M18x 1.5 10 06 10 008.0x 15 | 543 |2 | 206 | 24
PART Number THREAED . HDONSE BOSESH R D'MENS'ON; 20541-20-08 | M20x 1.5 12 08 12 010.0x 15 | 67.8 | 2.5| 32.8 | 27
20541-22-08 | M22x 1.5 12 08 14 011.0x 20 | 68.1 | 2.5| 33.2 | 27
10511-16-04 M16x 1.5 6 04 8 26.5 12 17 20541-24-08T | M24x 1.5 12 08 16 0130x 2.0 | 625 |3 | 27.5 | 30
0Ll L i b 95 A2 € i L 8.9 12 Le 20541-30-10T | M30x 2 16 10 20 016.3x 24 | 758 |3 | 31 36
10511-20-06 M20x 1.5 10 06 12 26.5 12 22 20541-30-12 | M30x 2 20 12 20 016.3x 24 | 90.5 |3 | 42.4 | 36
LUE 20 DA L L2 Ui — — v 20 20541-36-12T | M36x 2 20 12 25 0203x 2.4 | 82.7 |3 | 346 | 41
10511-30-10 M30x 2 16 10 20 36 16 32 20541-36-14T | M36x 2 22 14 25 020.3x 2.4 | 844 |3 | 34 41
s l-neel L 2 — 1 - “eD e - 20541-42-16T | M42x 2 25 16 30 0253x 24 | 923 |5 | 36.8 | 50
10511-42-16 Ma2x 2 25 16 30 44 20 46 20541-52-20T | M52x 2 32 20 38 033.3x 2.4 | 103.4 | 6.5 | 41.2 | 60
Lisll 2 20 2 2 2 20 S C 22 = 20541-52-24T | M52x 2 40 24 38 0333x 2.4 | 115.9 | 6.5 | 45.1 | 60

1. 2. 10512-xx-XX 1. 2. 20542-xx-xX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 10512-xx-Xxx. Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20542-xx-xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



